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Section A: (19 x 2 marks)

For each question, four options are given. One of the options is the correct
answer. Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.
Please use only 2B pencil and SHADE the oval completely.

1. Thevalue of the digit 8 in 24 837 is

(1) 80
(2) 8OO
(3) 8000
(4) B0 00O

2 11 thousands 5 tens is the same as

(1) 115
{2) 1150
(3) 11005

(4) 11050

3. 82 758 rounded to the nearest hundred is

(1) 62700
(2) 62 760
(3) 62 800

(4) 63000



4. Which of the following figures in the square grid below has both parallel
lines and perpendicular lines?
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How many guarters are thers in 2 wholes?

(0

(2)
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(4) H

In the figure below, what is the length of the pencil in cm¥
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(1) B.Bem

(2) 9.4 om

(3) 8.86cm

(4) B4em

Vhich number below is 1.3 less than 4.787

(1) 3.48
(2) 4.65
(3) 4.91

(4) 6.08



The bar graph below shows the number of starybooks read by Primary Four
pupils in Sunshine Primary School,
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How many pupils read more than 3 books?

(1) 82
(2) @8
(3 110
(4) 114



10. Cheryl bought some strawberries. She ate 28 strawberries and gave

i

the remaining strawberries to her 6 friends. Each of her friends received
37 strawberries. How many strawberries did Cheryl buy?

(1) 124
(2) 194
(3) 205
(4) 250

6 identical bags and 3 identical shirts cost $126.
3 such bags cost as much as 2 such shirts. YWhat is the cost of on2 such
shirt?

(1) 812
(2) $14
(3) %18

{4y $42



12

13,

At first, Pamela wae standing at Point X facing the markat. She tumed
in an anti-clockwizse direction. She is famng the school now. What was

the angle she turmnad?
Library
Market MRT Station N
Playground X Food Cenire
School Shopping Centre
Park

(1) 45°

2y -80°

(3) 135°

(4)y 270°

4
Mr Lee baked some cupcakes. He sold = of the cupcakes and had 84 cupeakes
left. How many cupcakes did he hake?

(1y 36
{2} 48
(3) 147
{4) 196



14.

16.

16.

Benny bought 8 buns. Each bun cost $1.30. He gave the cashier some
monay and received a change of $8.60. How much money did he give the

cashijer?

(1) $10.90
(2) $10.40
(3) 218,90
(4) $20.00

A ribbon of length 2.4 m Is cut into 2 pleces. The longer oiece is 4 times as
lang as the shorter piece. What is the length of the shorter pieca?

(1) 0.48m

{2) 0.60m

3y 120m

(4) 192m

The square has a side of 6 cm. The rectangle and the square have the same
perimetar. The length of the rectangle is twice its breadth. Find the length of
the rectangle.

[

(1) 4em
{2} 8cm
(3} 16cm
(4) 24 om



The line graph below shows the temperatures in Singapore for a particuar day.
Study the graph carefully and answer gusastions 17 and 18,

Temperature In Singapora
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17. During which 2-hour interval did the temperature dacrease the most?

(1) Bam.to10am.
{2y 10am. to12 p.m.
() 2pm.to4pm.

(4) 4pm. to6pm.

18. What is the differenca belween the highest temperature and the lowest
temperature? :

(1) 8°C
2) 12°C
(3) 20°C
(4) 32°C



18, Atfirst, Ahmad was standing at one of the points shown In the grid. Then, he
walked 3 siaps to the South, 2 steps to the East and 1 step to the Norih. He
ended up at point H. At which point was he standing at first?
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(1) A
@ B
(3) C
@) D

~ End of Booklet A ~



